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T+ THEGEE PEHE 1/1
CA1 CA2 fi E
il i e fHIE Ei Tl - IRE #os
PR mofE | B SOAE m oM EY SEOHE
(m) (m) (m2) (m2) (m3) (m2) (m2) (m3)
No. 33 + 1.66 1. 66 1. 40 0.0
No. 33 + 13.66 12. 00 1. 40 1. 40 16. 8 0.0 0. 00 BC. 18
No. 33 + 16.99 3. 33 4. 82 1. 30 1.35 6.5 0.0 0. 00 0. 00
No. 33 + 16.99 0. 00 2. 10 0.0
No. 33 + 18.37 1. 38 2. 04 2. 10 2. 10 4.3 0.0 0. 00 0.00 |MC. 18
No. 34 + 0.00 1.63 2. 48 4. 10 3. 10 7.7 0.0 0. 00 0. 00
No. 34 + 0.00 0. 00 0. 00 14. 40 0.0
[ _zompt _ [ [ ] . _oms| el L _ L _ 1 _ 1 _ 1 _._.
No. 34 + 3.08 3. 08 3. 36 32.00 23. 20 78.0 0. 00 0. 00 0.0 |ECBC. 19
No. 34+ 7.79 4. 71 5.53 37. 80 34. 90 193.0 0. 00 0. 00 0.0 [MC. 19
No. 34 + 12.50 4.71 5. 45 18. 20 28. 00 152. 6 0. 00 0. 00 0.0 |EC. 19
No. 34 + 12.60 0. 10 18. 20 18. 20 1.8 0. 00 0. 00 0.0 |[BC. 20
No. 34 + 15.35 2.75 18. 20 18. 20 50. 1 0. 00 0. 00 0.0
No. 34 + 18.91 3. 56 0. 10 9. 15 32.6 0. 00 0. 00 0.0 [MC. 20
No. 35+ 0.00 1. 09 0.10 0.10 0.1 0. 00 0. 00 0.0
[ _mi_ ] N I ETEN N oo L - L _J_ ] _ 1 __.
No. 35+ 1.35 1. 35 0.10 0.10 0.1 0. 00 0. 00 0.0
No. 35+ 1.35 0. 10 0. 00
No. 35+ 5.22 3. 87 0.10 0.10 0.4 0. 00 0. 00 0.0 |EC. 20
No. 35 + 14. 36 9.14 0. 50 0. 30 2.7 0. 00 0. 00 0.0 [IP.21
No. 35 + 18.14 3. 78 0. 50 0. 50 1.9 0. 00 0. 00 0.0
No. 35 + 18.14 0. 00 0. 00
No. 36 + 0.00 1. 86 0. 00 0. 00 .0 0. 00 0. 00
| __ 20miE I I _L___5 B D _L___0 L O e I I D I
No. 36 + 5.27 5. 27 0. 00 0. 00 .0 0. 00 0. 00 .0
No. 36 + 5.27 0. 90 0.10
No. 36 + 16. 80 11.53 0.90 0.90 10. 4 0.10 0.10 1. BC. 22
No. 37+ 0.00 3. 20 1.10 .00 3.2 0.20 0. 15 0.5
[ ami_ . ] N I TN B I AR TS R AR AN N DN AN
No. 37 + 10. 21 10. 21 1. 20 1.15 11.7 0. 20 0. 20 2.0 [MC. 22
No. 38 + 0.00 9.79 0. 40 0. 80 7.8 . 60 0. 40 3.9
20m it 19.5 5.9
& = 125. 00 581.7 7.6
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(m) (m) (m2) (m2) (m3) (m2) (m?2) (m3) (m?2) (m2) (m3) (m2) (m?2) (m3)
No. 33+ 0.00
No.334E /K 5.2
No. 33+ 1.66 1. 66 0.70 0. 00 0. 00 0. 00 EC. 17
No. 33 + 13.66 12. 00 0. 70 0.70 4 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [BC.18
No. 33 + 16.99 3.33 4.34 0.70 0.70 3.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 33 + 16.99 0. 00 0. 00 0. 80 0. 00 0. 00 0.0 0. 00 0. 00
No. 33 + 18.37 1.38 1. 80 0. 80 0. 80 1.4 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [MC. 18
No. 34+ 0.00 1.63 2.13 0.70 0.75 1.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 34+ 0.00 0. 00 0. 00 0. 20 0. 00 0. 00 0.0 0. 00
| ___20mEt . S I I o196 001 _ __| _— 0.0 | |___¢ 0.0 | _____
No. 34 + 3.08 3. 08 0.21 0.21 0.6 0. 00 0. 00 0.0 0. 00 0. 00 0. 00 0.0 [ECBC. 19
No 34+ 7.79 4.71 0.21 0.21 1.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [Mc. 19
No. 34 + 12.50 4.71 0.21 0.21 1.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [EC.19
No. 34 + 12.60 0.10 0.21 0.21 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [BC.20
No 34 + 15.35 2.75 0.21 0.21 0.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 34 + 18.91 3. 56 0.10 0.16 0.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [Mc. 20
No. 35 + 0.00 1.09 0.10 0.10 0.1 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
| ___20mEt . S I I e 39 1 ___ 001 _ __| _— 0.0 | __¢ 0.0 | _____
No. 35+ 1.35 1.35 0.10 0.10 0.1 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 35+ 1.35 0.11 .00 .50 0. 00
No. 35 + 5.22 3.87 0.11 0.11 0.4 .00 0. 00 0.0 .50 9.50 36. 8 0. 00 0. 00 0.0 [EC.20
No. 35+I3MFIEHIK |5 L AR 1.5
No. 35 + 14.36 9.14 0.07 .09 .00 .00 4.10 6. 80 62. 2 12.90 6. 45 59.0 |IP.21
No. 35 + 18.14 3.78 0.07 0.07 0. 00 .00 .10 .10 15.5 12.90 12. 90 48.
No. 35 + 18.14 0. 00 0. 00 2. 60 7.70
No. 36+OFHT THEK |5 & ARE 1.5
No. 36 + 0.00 1. 86 0. 00 0. 00 0.0 0. 00 0. 00 0.0 2. 60 2.60 4.8 7.70 7.70 14.3
| ___20mEt . S I I L6 001 _ __| —— 4 122 . 2. 1| __ .
No. 36 + 5.27 5.27 .00 0. 00 0.0 .00 0. 00 0.0 .60 2.60 13.7 7.70 7.70 40. 6
No. 36 + 5.27 .06 .00 .50 15. 30
No. 36+I3MFIEHIK |5 E AR 1.5
No. 36 + 16.80 11.53 .06 .06 7 0. 00 0. 00 .50 .50 40. 4 15. 30 15. 30 176.4 |BC. 22
No. 37 + 0.00 3. 20 .10 0. 08 3 0.01 0.01 0.0 .80 .15 10. 1 21. 00 18. 15 58.
20m3 0.0 65. 7 275. 1




No. 37 + 10. 21 10. 21 0. 08 0. 09 0.9 0. 02 0.02 0.2 3. 50 3.15 32.2 16. 70 18. 85 192.5 [MC. 22
No. 38 + 0.00 9.79 0. 00 0. 04 0.4 0.11 0. 07 0.7 0. 60 2. 05 20. 1 12. 50 14. 60 142. 9

20m it 1.3 0.9 52.3 335. 4

= il 100. 00 27.4 0.9 240. 3 132.
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RA1 RA2 RA3 BA {i =
H PR A ffHIE MR (AT Y G e S ) MR (iR ey m) fHIE .
PR m | EY VAR = [ETI - S I ) RvAR m oM EY SOAE PERE m o Y YA =1
(m) (m) (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3) (m) (m2) (m2) (m3)

No. 31 + 15.00 0. 09 0.0 0.0 0.0
No. 32+ 0.00 5. 00 0. 09 0. 09 0.5 0.0 0. 00 0.0 0.0 0. 00 0.0 0.0 0. 00 0.0

20m &} 0.5 0.0 0.0 0.0
No. 32 + 8.46 8. 46 0. 09 0. 09 0.8 0.0 0. 00 0.0 0.0 0. 00 0.0 0.0 0. 00 0.0 [BC.17
No. 32 + 15.06 6. 60 0. 10 0. 10 0.7 0.0 0. 00 0.0 0.0 0. 00 0.0 0.0 0. 00 0.0 [MC. 17
No. 33+ 0.00 4. 94 0. 05 0.08 0.4 0.0 0. 00 0.0 0.0 0. 00 0.0 0.0 0. 00 0.0
| 20mit L9 0.0 ool | 0.0
No.334E K #f 2.7
No. 33+ 1.66 1.66 0. 50 0. 00 0. 00 0. 00 EC. 17
No. 33 + 13.66 12. 00 0. 50 0.50 6.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [BC.18
No. 33 + 16.99 3.33 4.34 0. 50 0. 50 2.2 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 33 + 18.37 1.38 1. 80 0. 50 0. 50 0.9 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [MC. 18
No. 34+ 0.00 1.63 2.13 0. 50 0. 50 1.1 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 34+ 0.00 0. 00 0. 10 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
[ 2omit __ ] N L _. 2o ] I OO I D X [ ool ___. ]
No. 34+ 3.08 3.08 0. 10 0. 10 0.3 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [ECBC. 19
No. 34+ 7.79 4.71 0. 10 0. 10 0.5 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [MC. 19
No. 34 + 12.50 4.71 0. 10 0. 10 0.5 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [EC. 19
No. 34 + 12.60 0. 10 0. 10 0. 10 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [BC.20
No. 34 + 15.35 2.75 0. 10 0. 10 0.3 0. 00 0. 00 0.0 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 34 + 18.91 3. 56 0. 05 0.08 0.3 0. 00 0. 00 0.0 0. 00 0. 00 0.0 6. 20 3. 10 11.0 [Mc. 20
No. 35+ 0.00 1. 09 0. 05 0. 05 0.1 0. 00 0. 00 0.0 0. 00 0. 00 0.0 6. 20 6. 20 6.8
[ 2omit___ . _] I L _. 2o ___] ___ 1. _. OO I D o I I [ T ]
No. 35+ 1.35 1.35 .05 0. 05 0.1 . 00 0. 00 0.0 .00 0. 00 0.0 6. 20 6. 20 8.4
No. 35+ 1.35 0. 05 0. 40 0. 00 0. 00
No. 35+ 5.22 3. 87 0. 05 0. 05 0.2 0. 40 0. 40 1.5 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [EC.20
No. 35+13MFIEHAK |5 & AR 0.3
No. 35 + 14.36 9. 14 0. 27 0.16 1.5 0. 30 0.35 3.2 0. 00 0. 00 0.0 0. 00 0. 00 0.0 [1IP.21
No. 35 + 18. 14 3.78 0. 27 0.27 1.0 0. 30 0. 30 1.1 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 35 + 18. 14 0.15 0. 30 0. 00 0. 00
No. 36+0fI#T THEK |5 & AHE 0.3
No. 36 + 0.00 1.86 0.15 0.15 0.3 0. 30 0. 30 0.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0
[ oomir ] I I L _. I RETE . I N I D O I I I o ]




No 36 + 5.27 5. 27 0.15 0. 15 0.8 0. 30 0. 30 1.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No 36 + 5.27 0. 26 0. 30 0. 00 0. 00
No. 36+13WFIEHEK |5 & AHE 0.3
No. 36 + 16.80 11.53 0.26 0. 26 3.0 0. 30 0. 30 3.5 0. 00 0. 00 0.0 0. 00 0. 00 0.0 |BC.22
No. 37 + 0.00 3. 20 0. 07 0.17 0.5 0. 80 0. 55 1.8 0. 00 0. 00 0.0 0. 00 0. 00 0.0
| 20maEf ] e 431 S I e | o o _ 0.0 | ___L___ S P I 0.0 _ ___
No. 37 + 10. 21 10. 21 0.23 0.15 1.5 0. 50 0. 65 6.6 0. 00 0. 00 0.0 0. 00 0. 00 0.0 |MC. 22
No. 38 + 0.00 9.79 0. 00 0.12 1.2 0. 40 0. 45 4.4 0. 00 0. 00 0.0 0. 00 0. 00 0.0

20m i 2.7 11.0 0.0 0.0

& il 45. 00 27.4 25.2 0.0 26. 2
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H PR A fHIE R - FET— b T 1E BRI - e — b fh R 1B
FREfE e ) T FH FREfE [TET— A7) RVAN - m fE | Y VAR
(m) (m) (m) (m) (m2) (m) (m2) (m2) (m3) (m2) (m2) (m3)

No. 32 + 8.46 8. 46 0. 20 BC17
No. 32 + 15.06 6. 60 0. 00 2.20 1. 20 7.9 MC17
No. 33+ 0.00 4.94 0. 00 0. 00 0.0 3. 60 2.90 14. 3

20m it 0.0 22. 2
No. 33+ 1.66 1. 66 0. 00 0. 00 0.0 3. 60 3. 60 6.0 EC17
No. 33+ 1.66 0. 00 0. 00 0. 00
No. 33 + 13.66 12. 00 0. 00 0. 00 0.0 0. 00 0. 00 0.0 BC18
No. 33 + 16.99 3. 33 0. 00 0. 00 0.0 0. 00 0. 00 0.0
No. 33 + 16.99 0. 00 0. 00 0. 00 0.0 0. 00 0. 00 0.0
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No. 34 + 18.91 3. b6 4. 60 2. 30 8.2 0. 00 0. 00 0.0
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AEC. 19 4.71 0. 80 5. 45 4.71 4.71 4.71 4.71 4.71
0. 00 0. 00 0. 00 0.00 0. 00 0. 00
0. 00 0. 00 0. 00 0.00 0. 00 0. 00
0. 00 0. 00 0. 00 0. 00 0. 00 0. 00
A % 1._(BA) T (RAD M5 (RA2) T (RAD)
H R 4 g R (RO EREE] (S EEEE RO MEE] (SRR ([(ROREE] EEihEE (RO SR RO REE] S EEEE (RO REE] (5 B
L +d Lx[(R+d)/R] +d LX[(R+d)/R] +d Lx[(R+d)/R] +d LX[(R+d)/R] +d Lx[(R+d)/R] + d LX[(R+d)/R]
ABC. 19 0. 00 0. 00 0. 00 0.00 0.00
AMC. 19 4.71 4.71 4.71 4.71 4.71
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BURIAA7S30 (C 0.38 + 0.20 )/ 200 * 0.3 -
0.10 X 0.10 X 3.14 )X
10. 00 = 0. 56 n3 0.6
W U B A
t=3mm ( 0.38 + 0.30 X 1.044 X 2.00 +

0.20 )X 10.00 = 12. 06 m2 12. 1




HEEFR-1

X K I Ay¥ 5
g Jl i1 O Bfr = wHE
B om M VRA ¢ 6.0%5.0-200%250 H -1,800%1,000| 1=yk 25
VRL ¢ 6.0%5.0-200+250 B -1,800%750 | 1=yh 157
VUL ¢ 6.0%5.0-200+250 B -1,800%1,500| 1=yh 86
WO M SHTYYR TT045 SAMP (#E1.0m) m 541 |100mA-)= 5/10ma-)= 5
TT060 SAMP (#E1.0m) m 346  |75mo-)= 4/10ma-)= 5
TT090 SAMP (#E1.0m) m 683  [50mA-)= 13 10mA-)= 4
30mA-)= 10mA-)=
30mA-)= 10mA-))=
TT045N SAMP (180.32m) m 15 |30mA-)= 2
TTO60N SAMP (180.32m) m 11 [30mA-)= 2
TTO90N SAMP (180.32m) m 34 |30mn-)= 4
30mA-)=
& &t m 1,630
INYIIYRS VBM ¢ 7.5%5.0 -100%112H -2,000%560| #& 301
R E M arI5—A 24 @ 41.64 =999.4 #8 202 ARVE—EVET
aR95—B 27 @ 37.10 =1,001.7 #H 162 aARYE—EVET
SHNH— | p6-1.04m x 364 n=1%94—-A + 1%94-B
£V 8 750mm AT E m 595 |10ma-)= 60
® M S L =720 X 729 1% M
Xy R—S A # L =760 x 5 [15A
B # L =1220 7 % [19H
by T hiN— fA8 L=1.0m, t=1mm x 53
TCHRA ryTHIN—REERAUR S 54
INITIRS VBM ¢ 7.5%5.0 -100%112H -2,000%560| #& 17 UHER AL EE A
EET Y g 750mm FEEfftE m 26 | SHERALIE A
i ER AT SafkN— | L=1,100, t =5 X 44
EEE> LB R&30cmiZE ZS 958 waEH
JKFEHEKH B=300 m 264
BmEMLT m 325.88 A
R T m 1,579.3
KL T m 57.62
HBHLFHEH T m3 | 141540
HEKMEEETL m 263.60
BMEEFF-2
HTFHEKT
g Al A Al % =R = HE
&R HEKH B=300,t=10 m 120.0
T EHKE EFE 150 m 67.0
0%t B LE 44 t=3mm, W=2.0m m 137.4
TAIE— S-30 m® 15.4
B E |ILE ¢ 200 m 20
Jhoh3 1,200 X 500 & 2




TE (m) CEE ERETE
5 (D+@) /2 OBEHS | gpz | EHE | o
DLins|@FHS | QX iKE| &R @ ED) 1 ®©ERE|DERE| @KREE| ©—© * Ox® "
+
237 | 2.400 [ 2.400 | 2.000 | 2.000 4. 800 4. 800 1.005 4.824
238 [ 3.000 [ 3.000 | 2.000 | 2.000 6. 000 6. 000 1.005 6. 030
239 | 4.800 [ 4.800 | 2.000 | 2.000 9. 600 9. 600 1.005 9. 648
240 | 4.800 [ 4.800 | 2.000 | 2.000 9. 600 9. 600 1.005 9. 648
241 | 6.497 | 6.235 | 2.000 | 2.000 12. 732 12. 732 1.005 12. 796
242 | 6.835 | 6.572 | 2.000 | 2.000 13. 407 13. 407 1.005 13.474
243 | 7.172 | 6.909 | 2.000 | 2.000 14. 081 14. 081 1.005 14. 151
244 | 6.909 | 6.646 | 2.000 | 2.000 13. 555 13. 555 1.005 13. 623
245 | 6.646 | 6.383 | 2.000 | 2.000 13.029 13. 029 1.005 13.094
246 | 6.983 | 6.732 | 2.000 | 2.000 13.715 13.715 1.005 13.784
247 | 6.732 | 6.495 | 2.000 | 2.000 13. 227 13. 227 1.005 13. 293
248 | 7.095 | 6.873 | 2.000 | 2.000 13. 968 13. 968 1.005 14. 038
249 | 6.873 | 6.651 2.000 | 2.000 13.524 13.524 1.005 13. 592
250 | 6.651 6.428 | 2.000 | 2.000 13.079 13.079 1.005 13.144
251 | 6.428 | 6.206 | 2.000 | 2.000 12. 634 12. 634 1.005 12. 697
252 | 6.206 | 5.984 | 2.000 | 2.000 12.190 12.190 1.005 12. 251
253 | 5.984 | 5.762 | 2.000 | 2.000 11. 746 11. 746 1.005 11. 805
254 | 5.762 | 5.539 | 2.000 | 2.000 11. 301 11. 301 1.005 11. 358
255 [ 5.539 | 5.320 | 2.000 | 2.000 10. 859 10. 859 1.005 10.913
256 [ 5.920 [ 5.751 2.000 | 2.000 11.671 11.671 1.005 11.729
257 | 5.751 5.583 | 2.000 | 2.000 11.334 11.334 1.005 11. 391
258 | 6.183 | 6.030 | 1.812 | 1.882 11.278 11.278 1.005 11.334
259 [ 6.030 [ 5.919 | 1.812 | 1.882 11.035 11.035 1.005 11.090
260 [ 5.919 [ 5.797 | 2.000 | 2.000 11.716 11.716 1.005 11.775
261 [ 5.197 | 5.074 | 2.000 | 2.000 10. 271 10. 271 1.005 10. 322
262 | 5.074 | 4.952 | 2.000 | 2.000 10. 026 10. 026 1.005 10. 076
263 | 4.352 | 4.232 | 2.000 | 2.000 8.584 8.584 1.005 8.627
264 | 4.232 | 4.121 2.000 | 2.000 8.353 8.353 1.005 8. 395
265 [ 3.521 3.424 | 2.000 | 2.000 6. 945 6. 945 1.005 6. 980
it 57.624 [ 57.764 324.260 325. 882
WA T (KIIESE) : 57624 m
BEEE (AEIESH) . 57764 m




Bmai=—vk

BEHI-vE

BE |5 K # 7 | VRA| VRL | VRM| VRH | VUL | VUM | VUH | VRA | VRL | VRM| VRH | VUL | VUM | VUH
Z(mm)| $6.0 | p6.0|d7.5|d9.0|d6.0|d7.5|d9.0|d6.0|d6.0|d7.5|d9.0|d6.0|d75|49.0
mE(m) | 1.80 | 1.80 | 1.80 | 1.80 | 1.80 | 1.80 | 1.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80
3.00 1 1) (4) 1)
i 4 i
3.60 2 1) (4) (2)
2 8 4
4.20 2 1) (5) (2)
2 10 4
4.80 3 1) (5) (3)
3 15 9
5.40 8 1) (6) (3)
8 48 24
6.00 8 1) (6) (4)
8 48 32
6.60 1 1) @ (4)
i 7 4
4.80 1 (3) 1)
5 237 3 i
540 1 (4) 1)
i 238 4 i
540 2 (5) (3)
5 239-240 10 6
ElR " 25 | 157 36 Py
BMS |1 471 258 729

T 1= KB X3

=N — T 1=y B % 2




HHsR A
HEMEE A=RER x % x 1§

(4 ) TYPE-4
5| &S TYPE-4 N
B B(m) 7.20 6.60
3 % _ 1
RER IR mEE B EE R EE R @R R @ R mE | MR mE | fR | EmE R & R EmE R EE R @R R @R 1R | @R
8 TT045 5.7 200 | 11.4
7 TT045 5.7 200 | 11.4
6 TT060 5.6 200 | 11.2
5 TT090 | 5.1 2.00 | 10.2
4 TT090 438 200| 9.6
3 TT090 4.6 200| 9.2
2 TT090 45 200| 9.0
1 TT090 4.3 200| 8.6
BRMERE (mD)
1:| TT045 22.8 22.8
2:| TT060 1.2 1.2
3:| TT090 46.6 46.6
4:| TT120
5:] TT160
6:| TTO45N
7:| TTO60N
8:| TTO9ON
9:|TT120N
10:| TT160N
ARG E—
ax95— A 6 6
B 10 10




Gt

WEMEE A=RETR  x FH% x 1§
( 5 ) TYPE-5
51243~ 245 51240~ 243
5l &5 TYPE-5 511238 | 511239,240 | 246~247 |%51|245~246| %51|239~240 |%1|238~239 IR
[ R R
A
B S(m) 6.00 6.00 5.40 5.40 5.40 6.00 6.00 6.00 5.40 3.00
Il 8 8 1 2 3 1 1 3 | | | | |
REtR R EE MR | EE B BE B EE (B mE B @R | 1R EE (1R mE R EE 1R @S R mE IR EE R mE R | B
7 TT045 | 50 [2.00| 80.0 |2.00 | 80.0
6 TT045 | 5.0 |2.00| 80.0 |2.00 | 80.0
5 TTO60 4.6 [2.00 73.6 [2.00]| 73.6 2.00 184
4 TT090 = 4.3 [2.00 688 [2.00 688 |2.00 8.6 |2.00 17.2
3 TT090 4.1 [2.00 65.6 |[2.00 656 |2.00 8.2 200 16.4
2 TT090 = 4.0 [2.00 640 [2.00 640 200 80 |2.00 16.0
1 TT090 = 3.8 [2.00 60.8 [2.00 60.8 |2.00 7.6 |2.00 15.2
TT045N| 5.0 032 48 032 48
TT045N| 5.0 032 48
TTO60N| 4.6 032 44 0.32 1.5
TTO9ON| 4.3 032 441 0.32 14
TTO9ON 4.1 032 39 0.32 1.3
TTO9ON| 4.0 032 38 (032 1.3 032 1.3 [032 | 1.3 [032] 38
TTO90ON| 3.8 032 36 032 1.2 032 1.2 (032 1.2 [032] 36
TT045 | 5.0
TT045 | 5.0
TT060 | 4.6
TT090 | 4.3
TT090 4.1
TT090 | 4.0
TT090 | 3.8
HEMERE (m”)
1:| TT045 160.0 160.0 320.0
2:| TT060 736 73.6 18.4 165.6
3:| TT090 259.2 259.2 324 64.8 615.6
4:| TT120
5:| TT160
6:| TT045N 9.6 48 14.4
7:[TTO60ON 44 1.5 5.9
8:| TTO90ON 15.4 25 5.2 2.5 7.4 33.0
9:| TT120N
10:| TT160N
AR R—
arge— A 48 48 4 100
B 64 64 8 16 152




L)

HEMEE A=NEERE x FlH x 1§
(6 ) TYPE-6
511236~
5237 11237 ~ 237
s BRI
KR TYPE-6 FEi i &R U\
B S(m) 4.80 4.80 4.20 4.80 4.80 4.80
I # 3 2 1 1 1 1 1 1 1 ] 1
RER TR | @t R Wi R Wi IR EE | IR | WA | TR | @i IR | @i miE iR miE miE R miE | iR | @R | 1R | @ miE
6 TT045 | 4.2 [2.00 | 25.2 [2.00 | 16.8
5 TT045 | 4.2 [2.00 | 25.2 [2.00 | 16.8
4 TTO60 | 3.7 [2.00 | 22.2 [2.00 | 14.8
3 TTO60 | 3.5 [2.00 | 21.0 [2.00 | 140 200 7.0
2 TTO60 | 3.4 [2.00 | 204 [2.00| 136 200 6.8
1 TTO60 | 3.2 [2.00 | 19.2 [2.00 | 128 200 6.4
TTO45N | 4.2
TTO45N | 4.2
TTO60N 3.7
TTO60N 3.5
TTO60ON| 3.4 032 | 1.1 032 1.1
TTO60N 3.2 032] 1.0 032] 1.0
TT045 4.2
TT060 | 3.4
TT060 3.2
BAMEE (M)
1:| TT045 50.4 33.6 84.0
2:| TT060 82.8 55.2 20.2 158.2
3:| TT090
4:| TT120
5:] TT160
6:| TTO45N
7:| TTO60N 2.1 2.1 4.2
8:| TTO9ON
9:|TT120N
10:| TT160N
aARYE—
aRH8— A 36 24 6 66
B




R
HEMEE A=NEERE x FlH x 1§
(7 ) TYPE-7

5| &S TYPE-7

B S(m) 3.60 3.60 3.00
3 2 I ] ] ] ] ]
REE R mRE R | &R 8| &R 1B & 1B @A EiE B @ IR @ B miE 0B miE | 0 mRE | R | R IR | AR 1R @R
5 TT045 | 3.4 [2.00] 136 [200| 638
4 TT045 | 3.4 [2.00] 136 200 638
3 TT045 | 3.3 [2.00] 132 [200| 6.6
2 TT045 | 3.2 [2.00 128 [200| 6.4
1 TT045 | 3.0 [2.00 120 [2.00| 6.0

WA EHE (m?)

1| TTO45 65.2 32.6

TTO060

TTO090

TT120

TT160

TTO45N

TTOGON

TTO9ON

TT120N

OO 0N OAWN—

—_

TT160N

TRTE—

arys— A 20 10
B




R AT

fHEMmEE  RXRE & i A—)L&k O—)L#in—)L&k O—/L%
(m% (m% (m) (X) (m) (X)

1:TT045 5246 1.03 541 100 5 10 5
2:TT060 3350 1.03 346 75 4 10 5
3:TT090 662.2 1.03 683 50 13 10 4
4:TT120 30 10

5:TT160 30 10
6: TTO45N 144 103 15 30 2
7:TTO60N 10.1  1.03 11 30 2
8: TTO90N 330 1.03 34 30 4
9:TT120N 30
10: TT160N 30

& &t 1579.3 1,630 44




ImE LA BEMHES
Ny Ry b RKEE GREMEBER)

Ny Ty kS & s
)L 17
IN—7

)L (A~59F)
N—7 (4~55H

WAy MY B IFER

1HH BT
BE< Y b 26
(1. Om/ PR )
T YR IFE R
1HH BT
N il

(1. Om/ PR )



H 2 FH T FE
Saq biR— — &Y
= =% B A &% B

M O— L

Ni= 44 O—JL

Taq b —
L=1100, t=5 N= NI
- m ¥ 44




w & # H B
BEES —X Ly
= = B B =
x| EXEE A RSk
N1= 29 #&
aARTZ—KRE
aORIHA—A N2= 202 &
ORY3—B N3= 162 &
N&= N1+ N2 + N3
= 29 4+ 202 4+ 162
= 393 K
FHBIM
IEREER N5= 43 #%
TEAE N6= b5y
N7= N5 + N6
= 43 +
= 43 K
EEE Y

LB RE30cmiEE  N= N4 X 2 + N7 X 4

= 393 X 2 + 43 X 4

= 958 x 958




KEHEKF (B=300)

kS R &(m) [ JKFEHEKH (m)
237 3.700 1 3.70
238 4.300 1 4.30

239-240 4.600 2 9.20
241 5.000 1 5.00
241 4.600 1 4.60
242 5.000 1 5.00
242 4.600 1 4.60
242 4100 1 410
243 5.700 1 5.70
243 5.600 1 5.60
243 4.800 1 4.80
244 5.000 1 5.00
244 4.600 1 4.60
244 4100 1 410
245 5.000 1 5.00
245 4.600 1 4.60
245 4100 1 410

246-247 5.000 2 10.00

246-247 4.600 2 9.20

246-247 4.100 2 8.20

248-250 5.000 3 15.00

248-250 4.600 3 13.80

248-250 4100 3 12.30

251-253 5.000 3 15.00

251-253 4.300 3 12.90

254-255 4.200 1 4.20

254-255 3.700 1 3.70
256 5.000 1 5.00
256 4.300 1 4.30
257 4.200 1 4.20
257 3.700 1 3.70
258 5.000 1 5.00
258 4.600 1 4.60
259 5.000 1 5.00
259 4.600 1 4.60
260 5.000 1 5.00
260 4.600 1 4.60

261-262 4.200 2 8.40

261-262 3.700 2 7.40
263 3.400 1 3.40
263 3.300 1 3.30
264 3.400 1 3.40
265 3.400 1 3.40

& F 263.60




ERBEKT

&R S HEKH 1@fA-YRE x &HE
10.0 x 12 120.0 (m)
ThEHKE EREAR+HEHAR (L) X &
58.0 + 3.5 x 58.0 (m)
AR (L2) x BFTEk
4.5 x 2 9.0 (m)
AR (L3) x BFT#k
5.0 x 0 0.0 (m)
AR (L4) x BFTE
5.5 x 0 0.0 (m)
WA m (LS) x BTk
6.5 x 0 0.0 (m)
AR (L6) x BFT#k
0.0 x 0 0.0 (m)
it 67 (m)
Rt [ LE 44 THEHKEEZEE x ImIE-YEE
67 x 2.05 13735 (m?)
T 4ILE—H# THEHKEERE x Im3IYHFEE
67 x 0.23 1541 (md)
BHE & x HF%
1 x 2 2.0 (m)
2k>hd n
2 2 ({&@)




MESKFHER-1
AT AyFAY
Bl Al B B o = =
B O M VUL & 6.0%5.0-200%250 € -1,800%1,500 | 1=yh 3
oM SHI)IE TT045 SAMP (fiE1.0m) m 35 |100mA-)= 10mA-)= 4
75mA-)= 10mA-)=
50mA-)= 10ma-)=
30mA-)= 10mA-)=
30mA-)= 10ma-)=
& &t m 35
TaqrbN— |L=1,100, t =5 V. 10
BEEEY LA RX30cmiEZE ¥ 18 |[MEM
NS - Zil W=1000 m 11 [25mA—jb= 1
EEA #1300 W=2000mm,t=3mm m?2 19
BAa C-40 m3 5.64
BEAHAN T m 3.62
FHEMEER T ] 340




BEmEmai-vk

BEHMI=vk
BE |5 A | VRA|VRL|VRM|VRH| VUL | VUM| VUH | VRA | VRL | VRM | VRH | VUL | VUM | VUH
= [
ZF(mm)| 06.0[d6.0]p75[d9.0]p6.0][d75]d9.0]/p6.0[d6.0[p75[d90[p6.0{d75[9.0
fa(m) | 180 | 1.80 [ 180 | 1.80 | 1.80 | 1.80 | 1.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80 | 0.80
0.60 3 )
3
EmM St p5d 3
SMHMS |12FH  # 9




Bl Rt R

TYPE-1 fEHIR= 1.50 m
BE MM BHER
E@E | EEf | 3 | RigsEdd (1) | RS EAAQ) | 1IRHY
1 1.50 0.6 0.63 1.40 1.40 5.60
ast 5.60




A

WM EE A=RER x 5% x &
(1) TYPE-1
5| & & TYPE-1 I
B S(m) 0.60 0.60
5 3

REEIE @R B @R R @R (R @ (R @ R @ (R @i R @R (R miE (0E @R (R miE (R @i (iR miE 08 @i
1 TT045 | 56 20| 336

BSEAEHE ()
;] TT045 336 336
:| TT060

1| TT090
;| TT120
;] TT160

AR Z—
ax95— A 6 6
B

AW N =




R At

HERMmEmE | ORE & i O—)L& A—/LEin—)LK O—IL#k

(m?) (m?) (m) (X) (m) (X)

1:TT045 336  1.03 35 100 10 4
2:TT060 75 10
3:TT090 50 10
4:TT120 30 10
5:TT160 30 10

& &t 34 35 4

SafUbN—HE= 4 + BETH *+ 2
4 + 3 * 2




(1) EEE
FEE= HxZEEL
= B 5 ERL m fE
IES (m) (m) ()
245 0.600 2.000 1.20
246~247 0.600 4.000 2.40
& & 6.000 3.60
BmESEt
BmEE = EEfE x §& L
EmiE # L m f&
Z HE F 3.600 1.005 3.620
& i 3.600 3.620




B E i = £
INYIIYRS, by THIN— —xXHY
=1 = B #H =
INYITYRS R
®7.5%5.0 1001125 N1 = {ZEMEEEMM I + MAERE - WAH B
-2,000%560
= 3
= 3 L34 54 3
IN= NI + N2
® 3




EmEmA#A (81000mm)
T#m = E E x B ¥

5| & B E R | BRANERE M)
245 1 2.000 2.00
246~2471 1 4.000 4.00
I it 6.00 6.00
FrHERE R
FHIERE N = 4 il
L = N * 2.000 * 1/ 2

= 4 % 2.000 * 1 /2

= 4.00 m
FHMERAS
L = FHMEE + el &
= 6.00 + 4.00
= 10. 00 m
L= L m % AXE (1.05)
= 10. 00 m % 1.05




EHEA#EAM300 (W=2000mm, t=3mm)
BEHA#S = &k x & &

19 m2

5 & HE £ £ ¢ A (m2)
245 2.000]  3.000 6. 00
246~ 247 4.000]  3.000 12.00
& &t 18.00
EEA A mE
= EEmA A EE * 0 X (1.05)
= 18.00 m®> * 1.05




x

TYPEAI

MERE = (KIRIE + EHIE) x B & 2
W
TYPE-1 ( H=0.6m )
A= (1.50 +1.62) x 0.60 2
= 0094 m
TYPE-2 ( H=1.20m )
M= (1.5+1.74) x1.207 2
1.94 m
BE = WEE x IE
5|ES =) b T T E M B
= (TYPE) (m) m) (m%)
245 0.6 0.94 2.000 1.88
246~247 0.6 0.94 4. 000 3.76
0.00
0.00
0.00
0.00
I 5 6.00 5.64




